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1. The OMR Answer Sheet is inside this Test Booklet. When
you are directed, open the top seal of Test Booklet, take
out the Answer Sheet and fill in the particulars carefully
with blue / black ball point pen only.

2. The test is of 120 minutes duration and consists of 150
objective type questions. Each question carry 2 marks for
correct answer. Negative Marking : For every two wrong
answer, then marks for one right answer will be deducted

3. Use Black Ball Point Pen only for writing particulars on
this page and marking responses in the Answer Sheet.

4. Make sure that the Test Booklet No. and Series marked
by you on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet

6. The answers are to be recorded on the OMR Answer Sheet
only. Mark your responses carefully. No whitener/ eraser
/ Blade is allowed for changing answers.

7. After opening the Test Booklet, please immediately ensure
that no page or question is misprinted, torn or left blank.
If any discrepancy is found in test booklet, show it to
Invigilator and get it replaced with test booklet of same
series.

8. For any question if these is any discrepancy in Hindi or
English language of that particular question the English
version of that question will be considered as final.

9. Details of sections in Question Paper:
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Sections-2 | General Intelligence test 50
Sections-3 | General Knowledge 50
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Disaster to Environment is the biggest

problem.

(A) GEYT T AT |

(B) AR D §1 UG SSTH! IS
AT 2 |

(C) &+ TguvT BARI AT & |

(D) UgHYT U@ \AT & |

et A9 Sie @l g & — |l Agdrg

faRau:

(A) Education is necessary for all.

(B) Education is the foundation of our
life.

(C) Education leads the better nation.

(D) Primary education must be free for

all.
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Read the question below followed by two

statements and decide which statement(s)

is/are sufficient to answer the question.

Question:

In which year was Ranjith born?

Statements:

I.  Atpresent, Ranjith is 24 years
younger to his mother.

II. Ranjith’s brother, who was born in
2001, is 31 years younger to his
mother.

(A) Statement I alone is sufficient while
statement II alone is not sufficient

(B) Statement Il alone is sufficient while
statement I alone is not sufficient

(C) Neither statement I nor I1 is sufficient

(D) Both statements I and II are sufficient

Read the question below followed by two
statements and decide which statement(s)

is/are sufficient to answer the question.

Question:
What will be the total cost of 28 bags if
each of them costs the same?

Statements:

I.  One-fifth of the cost of each bag is
3 50.

II. The total cost of three bags is I 250
more than the total cost of two bags.

(A) Statement I alone is sufficient while
II alone is not sufficient

(B) Statement Il alone is sufficient while
I alone is not sufficient

(C) Either statement I or II is sufficient

(D) Both statements I and II are sufficient
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TEl 7

(C) 9 T P9 11 198 &

(D) BT 131X 11 ST W& §
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Q53 Read the question below followed by two

statements and decide which statement(s)

is/are sufficient to answer the question.

Question:
How is ‘MARBLES’ coded in the code

language?

Statements:

I.  ‘NaMgAISi’ means ‘Some stones
are marbles’ and ‘Si P CI’ means
‘Marbles don’t break’.

II. ‘NaMgAIl Si’ means ‘Some stones
are marbles’ and ‘Si Al Ar’ means
‘Marbles are strong’.

(A) Statement I alone is sufficient while
I alone is not sufficient

(B) Statement II alone is sufficient while
I alone is not sufficient

(C) Either statement I or II is sufficient

(D) Neither statement I nor II is sufficient
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PEL
FHeHT H ‘MARBLES® &1 &4 forar

NI

Y :

[. ‘NaMgAISi’ &7 31ef 8 ‘Some
stones are marbles’ 3R ‘SiP CI” &I
31f 8 ‘Marbles don’t break” |

II. “NaMgAlSi’ @7 31f & ‘Some stones
are marbles’ 3R “SiAl Ar’ &7 31ef @
‘Marbles are strong’ |

(A) Tad FHF [ & Sidfd 11 Hal
REIE

(B) ®ad %4 I W& ® Safd [ el
REI

(C) a1 ol B 137 I 98T &

(D) 9 @ P9 13 7 & 1! &
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Read tﬂn questlon elow ?o?loveed by two
statements and decide which statement(s)

is/are sufficient to answer the question.

Question:
Which code word stands for ‘well’ in the
coded sentence ‘sin lo bye’ which means

‘He is well’?

Statements:

I.  In the same code language, ‘lo mot
det’ means ‘They are well’.

II. In the same code language, ‘sin mic
bye’ means ‘He is strong’.

(A) Statement I alone is sufficient while
IT alone is not sufficient

(B) Statement Il alone is sufficient while
I alone is not sufficient

(C) Either statement I or II is sufficient

(D) Both statements I and II are sufficient

If x stands for ‘addition’, + stands for

‘subtraction’, + stands for ‘multiplication’

and — stands for ‘division’, then

20x16 —2+2+8=7

(A) 28

(B) 30

(C) 36

(D) 25
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. 1A/

I BT ® 91 A 2T Y U3 Bl U
IR Ig 9dTV b U9 T SR <4 & foru
P AT HAT BT T |

U3

He AT “sin lo bye’ ST 21ef ‘He is
well’ 8, # 5 e oreg &1 a1f “well’
&7

PUT

I I g w1 4, ‘lo mot det” T 379
g “They are well’ |

II. I He 49T 4, ‘sin mic bye’ T
31} © “He is strong’ |

(A) Tad FHF [ 8 Sidfd 11 Hal
T8l B

(B) ®ad %o I W& ® Safd [ el
BRI

(C) a1 o B 137 I 98T &

(D) B9 13X 11 SHI W& &

Afg x BT 31 INT, + BT 3f ‘=e@’, +
BT 37 U 2 3R — BT 3ef faror’
gl

20x16 —2+2+8=7

(A) 28

(B) 30

(C) 36

(D) 25
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sheep. There are twice as many men as
there are goats and twice as many goats
as there are sheep. If the total leg count is
44, how many men are on the farm?

(A) 14

(B) 12

(©) 16

(D) 8

Read the statement below followed by two

conclusions and decide which
conclusion(s) follow(s) from the

statement.

Statement:
Ram and Shyam always get first and

second ranks in class.

Conclusions:

I.  Ram always gets the first rank while
Shyam gets the second rank.

II. The competition between Ram and
Shyam is as tough as nails.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Either conclusion I or II follows

(D) Neither conclusion I nor II follows
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(D) 9 I frs®y [ 3R 7 81 [ &7 ured

I ®
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Read the statement below by two
conclusions and decide which of the

assumptions is implicit from the statement.

Statement:

Only dead fish go with the flow.

Assumptions:

I.  Fish that are alive will never go with
the flow.

II.  One must have individuality in
thinking and making decisions.

(A) Only assumption I is implicit

(B) Only assumption Il is implicit

(C) Either assumption I or II is implicit

(D) Neither assumption I nor II is implicit

Read the statement below followed by two
conclusions and decide which of the

assumptions is implicit from the statement.

Statement:
Aim for the stars, you will at least land on

the moon.

Assumptions:

I.  People aim for the stars because they
are bigger than the moon.

II. Astronomers aim for stars and land
on the moon.

(A) Only assumption I is implicit

(B) Only assumption Il is implicit

(C) Either assumption I or II is implicit

(D) Neither assumption I nor Il is implicit

Q58

Q59

31 frspsf & e i Ry U P @
U¢ 3R I8 g} fdh DI AT qaigaE
P H IidfHifed B

FUA :
faw # gs Avfenl & d98/@ & A
SRl 2 |

AT

[ Sfad #8ell o1 vare & a1y =gl
ST |

. 5 @fdd & g Fraax o
T =R |

(A) Dad gRoT [ AR ®

(B) dadl &R 11 Iidf=fed 8

(C) a1 @1 gRom 1 a1 11 3fa+ea

(D) 9 ar gror # R 9 2 11 dfifed
2

a1 et & arg e Ry 7T e o
U¢ 3R I8 gAN & P AT Yaigam
P H Ifdfifed B |

B :
RIIRT & forv ole, oMy &H | &H dgHT
TR AN |

forsh:
[ AT RaRi & forw oed g & wifs
d OgHT ¥ 9S 21§

II. T ARl TR S &7 a6l G
g 3R FEAT R SaRd 2|

(A) Hadl &R [ Faled ®

(B) ®adl &R 11 Iid+d 8

(C) a1 @5 gRom 1 a7 11 3fa+iRa §

(D) 9 @I grRoT # R T 2 11 idfifRd

&
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left of the 18™ letter from the left in a
forward alphabet series?

(A)J

B) G

O T

(D) K

In a certain coded language if
“MONSOON” is coded as
“PMQQPMO”, and “WINTERS” is
coded as “UPGRPGY” then how is
“SUMMERS” coded?

(A) TVNNFST

(B) TCQKWOS

(C) QWKOCTS

(D) UPGKOSU

Find the odd figure out.
A B c D

(A) A
(B) B
© C
(D) D

If in a coded language, JOIN is coded as
8574 and POKER is coded as 95321, then
JOKER will be coded as:

(A) 93596

(B) 83593

(C) 85321

(D) 93593

Q61

Q62

Q63

MY gqufATen sf@er # a8 3R J 18°
JeR B 918 3R I AT goiATeT 77 87
(A)J
B) G
C) T
(D) K

g 1 & TH Pre fovw # Ife
“MONSOON” BT “PMQQPMO” & &Y
H pifsd fhar Sar ® 3R “WINTERS”
P “UPGRPGY” & w4 H difed faar
ST © aF “SUMMERS” &1 f&dd UaR
I pifsa fear smo?

(A) TVNNFST

(B) TCQKWOS

(C) QWKOCTS

(D) UPGKOSU

favH Ml B ugaE d:
AOQS
A B c D

(A) A
(B) B
©) C
(D) D

IfS G ¥, JOIN T 8574 3R POKER
B 95321 & wU H foram wmar €,
JOKER &I &1 fol@r Siree:

(A) 93596

(B) 83593

(C) 85321

(D) 93593
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Q65

Q66

conclusions and decide which
conclusion(s) follow(s) from the
statement.
Statements:

Some pencils are sticks.

All sticks are trees.

Conclusions:

1. Allsticks are pencils.

2. Allpencils are trees.

(A) Only conclusion (1) follows

(B) Only conclusion (2) follows

(C) Either conclusion (1) or (2) follows

(D) Neither conclusion (1) nor (2)
follows

Thomas goes from church to the library Q65

after dropping his brother home. First, he

goes 4 km to the West; then, turns left

and goes for 3 km to reach home. From

there, he turns right and goes for a distance

of 1 km to reach the library. What is the

shortest distance between home and the

church?

(A) 5km

(B) 4km

(C) 2km

(D) 1km

In a certain language, C is 5 and CEAT is Q06

written as 37. Then JAPAN is:

(A) 56

(B) 47

(C) 52

(D) 42

Downl oa¥@d From : http://sscportal . it/

gl frpyl & 91 - AT U Bed B
e 3R I8 9am] b B O ey B
BT T B & |

B
@B Ufel B3 T |
T BE U T |

fspy :

1. i ws ufel €|

2. 4 ufael s R

(A) ®ad f=pY (1) BT T 81T &

(B) ®adl f=pY (2) &7 Ul 81T &

(C) a1 ar =By (1) a1 (2) T dTed
BT &

(D) 91 @ Ry (1) 9 & (2) BT gTed
BT &

o, Y 9TS Pl TR W BlIS & a8
T4 ¥ Gadled # ST 2| Uge 98
g &1 SR 4 f i Forar &; R, 9]
T ® R R ugad & forg 3 ol
TIAM ¢ | g8l W, 98 QN gl © AR
QTR ddb Uger & forq 1 fdT Ferar
2R SR TG B I B FId FH QA
HqT 87

(A) 5 b

(B) 4 fopHT

(C) 2 fosh

(D) 1 faHT

IfS fiAT P AT § C &7 5 3R CEAT
P 37 forar SIam € @1 JAPAN @1 &
foram ST

(A) 56

(B) 47

(C) 52

(D) 42

Cour t 8E¥-BE UPSSC


http://sscportal.in/
http://sscportal.in/

Downl oggled EEQ0 & if'ht Radeh ST BB kdhe | " Q67 o e A, B @ g &, B,C ot a1

Q68

daughter of C, C is the brother of D, and
D is the mother of E. If E is male, how is
A related to E?

(A) Nephew

(B) Niece

(C) Brother

(D) Sister

In a faulty compass, East is marked as
North, West as East, North as South and
South as West. A group of people, by
following the Southeast of this compass,
will actually travel in which direction?
(A) North east

(B) North west

(C) South cast

(D) South west

PSG2 Three newspapers A, B and C are bought

Q69

Downl oa®@d From : http://sscportal . i/

by 300 families in a gated community each

day.

How many families buy both B and C?
(A) 49
(B) 27
©) 41
(D) 32

Q68

2, C,DHE T, IR D,E® 7 g | afx
EYSY & dl A®I E¥ a1 ey 27
(A) wraT

(B) wish

(C) s

(D) 9=+

el Ffeqot wure H, gd &1 IR, uied
BT gd, SR BT & iR <o @1 gd
@ wY H ffea f&an T 2| 59 U
R GEOT — Yd BT IRV BRA ATl
AT T g aRdd H fobs faem # Sirgem?
(A) SR gd

(B) SR uf¥gH

(C) <feor gd

(D) <feyor ufdes

PSG2 dH WHRIR U3 A, B3R C ya oA

T ICe YErd H 300 URIRT gawT
RIS S |

Q69 foHad TRaR B iR C TFI wIgd 87

(A) 49
(B) 27
(C) 41
(D) 32
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Q70 How many families buy at least two Q70 ®H W ®H T WAMR UF fbd+ uRaR

newspapers? TIEd &7
(A) 48 (A) 48
(B) 27 (B) 27
(C) 41 (C) 41
(D) 32 (D) 32

Q71 How many families do NOT buy any Q71 fbe uRAR BIg AHER U= &l wied

newspaper? 4

(A) 128 (A) 128
(B) 186 (B) 186
(C) 109 (©) 109
(D) 147 (D) 147

Q72 How many families prefer A or B but NOT Q72 fdbed 4RAR A AT B U¥E &R € offb

C? C EI?

(A) 126 (A) 126

(B) 186 (B) 186

(C) 109 (C) 109

(D) 147 (D) 147

Q73 Pick the odd one out: Q73 faww faweu g

(A) Spring (A) T

(B) Autumn (B) UqsTS

(C) Windy (C) BaER

(D) Summer (D) T
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WIUET & 916 & qui d [T gadiel

LCDs manufactured by a company over

the years since its inception.

Number of Different Sizes of LCDs Sold
by a Company Over the Years (Numbers

in Thousands)

Size of LCDs in Inches
40" 50" 55”7 60 65" 70" 757
2012132 24 11 26 11 8
2013 143 35 34 38 13 11
2014 | 54 46 46 47 11 12
2015 145 53 51 39 21 18 11
2016 | 56 42 49 42 24 14 14
2017 | 47 38 54 55 31 21 16

Year

(o W RS |

o0

Q74 In which year was the maximum number Q74
of LCDs sold?
(A) 2013
(B) 2014
(C) 2017
(D) 2016

Q75 The total sales of all the six years are Q75
maximum for which size LCD?
(A) 60"
(B) 50"
(C) 40"
(D) 55"

Downl oa®@d From : http://sscportal . ilh/

B e & TE B
fUsel aul H HU SART 9 MY Yarirs!
P fAf=T MeRI &1 F&T (AT 89K
)
= TSl Bl PR, S4f J

40" 50" 55" 60" 65" 70" 75"
2012 132 24 11 26 11 8 7
2013 |43 35 34 38 13 11 6
2014 | 54 46 46 47 11 12 8
2015 145 53 51 39 21 18 11
2016 | 56 42 49 42 24 14 14
2017 | 47 38 54 55 31 21 16

g I ¥ vaiiST &1 ey A

I TS?
(A) 2013
(B) 2014
(C) 2017
(D) 2016

a4l B8 9l @I f{ G9! 4 [FF smdpR
% UAHIS] BT GAT AfHaH BT 67

(A) 60"
(B) 50"
(C) 40"

(D) 55"
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From: http;//sscportal .i
The percentage OP 55" LCDs Eo d of the

total number of LCDs sold was maximum
in the year:

(A) 2016

(B) 2015

(C) 2017

(D) 2014

Read the question below followed by two
statements. Decide which statement(s) is/

are sufficient to answer the question.

Question:

In which year was Vijay born?

Statements:

I.  Vijay, at present, is 24 years younger
to his mother.

II. Vijay’s brother, who was born in
2000, is 30 years younger to his
mother.

(A) Statement I alone is sufficient while
I alone is not sufficient

(B) Statement Il alone is sufficient while
I alone is not sufficient

(C) Neither statement I nor I1 is sufficient

(D) Both statements I and II are sufficient

From : http://sscportal.iPh/

n/Q76 frg e # 9= TN TRl @ G

AT H ¥ 99 MY 55" B UAArEl Bl
gfcrerd sffdredd o:

(A) 2016

(B) 2015

(C) 2017

(D) 2014

I A U U & R | Ry g
TEI BUAT DI US| T BN b YT BT
IR o B U DI AT HIT 9T B |

YR :

oSt &1 o= fb @ garm o?

DU :

I faSTy, 59 999 U AT 9 24
AT BIET B |

1. fasra &1 918, fS=aaT S99 2000
3T oI, 37U+ i & 30 AT BIET T |

(A) BT HAF | T & STafh bl
Il yafe =81 §

(B) el B 19T & STdich 3Tdhell
[T T8 ®

(C) & a1 S 13IR 7 & [ ual &

(D) <M1 o 13IR 1l yafw ®
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Q78 Read the question below followed by two

statements. Decide which statement(s) is/

are sufficient to answer the question.

Question:

What will be the total cost of 18 pens, if

each of them costs the same?

Statements:

I.  One-fourth of the cost of each pen is

3 50.

II. The total cost of three pens is I 200

more than the total cost of two pens.

(A) Statement I alone is sufficient while

II alone is not sufficient

(B) Statement Il alone is sufficient while

I alone is not sufficient

(C) Either Statement I or II is sufficient

(D) Both statements I and I are sufficient

Downl oa®@d From : http://sscportal . i2h/

Q78 I fay U ueT & R # Iy g

QM HUET BT US| TT B g @

IR o B U DI AT HIT 9T B |

U

18 UHl &1 gl AT &l BN, Al 5774

d UD B DT A 22

HU

I UA$ U B AN DI U dlATg
35081

. A9 YAl & | NI, &1 U=l B

H ARTT A T 200 AW 2 |

(A) BT HAF [ AT & STafdh 3dhel
11 gt <7l 8

(B) el B [ 9T & STy 3Tdhell
1 ygie 7€l 8

(C) a1 a1 B 137 [ 9are &

(D) T ®oF 3R I g
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statements. Decide which statement(s) is/

are sufficient to answer the question.

Question:
How is ‘GOOD’ coded in the code
language?

Statements:

I.  ‘HeLiBeB C’ means ‘He is a good
singer’and ‘Be N O F Ne’means ‘She
will sing good songs’.

II. ‘HeLiBeB C’ means ‘He is a good
singer’and ‘Be N C F Ne’ means ‘He

will sing good songs’.

(A) Statement I alone is sufficient while
IT alone is not sufficient

(B) Statement Il alone is sufficient while
I alone is not sufficient

(C) Either Statement I or Statement II is
sufficient

(D) Neither Statement I nor Il is sufficient

If x stands for ‘addition’, + stands for
‘subtraction’, + stands for ‘multiplication’
and — stands for ‘division’, then
20x16 —4+2+8=7

(A) 24

(B) 20

(C) 36

(D) 25

Q80

I faU U U & oER # Ry g
TN BT BT US| T BN [ YA B
IR 9 B U D9 A1 B+ I 2|

I :
PTS 99T H ‘GOOD’ BT Y difsd fhar
ST 87

HUT :

I. ‘HeLiBeBC’ ¥ aod g f& ag
T 3QT TS & AR ‘BeNOF
Ne’ ¥ drd g f ‘a8 erew g
Mg |

II. ‘HeLiBeBC’ ¥ @03 & & a8
TH 3T TH 2 3R ‘Be NC F
Ne’ ¥ A 2 & ‘a8 e Ma
QT |

(A) IDHAT BAT [ YA & STafdh 3fdvell
I gafa &1

(B) 3l HUF 1 9IT 8 STdfds 3rdvell
[ 8 &

(C) a1 a1 ®o 147 [ v &

(D) 7 a1 B 131X 7 & [ vai< &

A x BT AN ST B foIg, + BT TN
3R — &1 VAT 9RT & forg grar & ot
20x16 —4+2+8=2

(A) 24

(B) 20

(C) 36

(D) 25
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In a group, therepare as marlloy hens as Q81 U®H THg H, Il &l ﬂﬁhﬁ g R 91

sheep. The men are twice as goats and 2 | g0V, IhRAT A &1 T[T © iR iR,
goats are twice as sheep. If the total leg HSl ¥ qI T 2| afe W o1 EASIINEI
count is 44, how many four-legged 44 T A1 9 H fhae TR IR 91el SR
animals are there in the group? g7

(A) 14 (A) 14

(B) 12 (B) 12

©) 6 (C) 6

(D) 8 (D) 8

Q82 Read the statement below followed by two Q82 = fau U deE & 3RO # v g

conclusions and decide which of the g fspet BT Ue IR Aoy of fb wem

assumptions is implicit from the statement. A DA Al gRUMY, HoF A AdHRd 2

Statement: DY :

Only dead fish go with the flow. Hac 7 g AGiordl UATE & ATl Sl

=

Assumptions:

I.  Fish cannot swim with the flow. &ROMY -

II. One must have individuality in I. #oferdl Uarg & AT <R Al Hhdi |
thinking and making decisions. II. e iR v oF & Tl afad

(A) Only assumption I is implicit H Iraar B A1y |

(B) Only assumption Il is implicit (A) DI IRV [ idfed &

(C) Either assumption I or II is implicit (B) ®dal gRon 11 fafHfed &

(D) Neither assumption Inor Il is implicit (C) a1 @ grRom 137 11 3fafifed

(D) 9 a1 gRoT 1R 7 8 1 faf-ifd &
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Q84

Q85

two conclusions and decide which of the

assumptions is implicit from the statement.

Statement:

Better an “oops” than a “what if”.

Assumptions:

I.  You must try before giving up by
seeing the problems.

II. Even if you fail, you will learn how
to not tackle the problem.

(A) Only assumption I is implicit

(B) Only assumption Il is implicit

(C) Either assumption I or II is implicit

(D) Both assumptions I and Il are implicit

Which alphabet is 8" to the right of the Q84
12" letter from the left in a reverse
alphabet series?

(A) U

(B) R

O T

(D) G

If the English alphabet is divided into 4 Q85
parts (excluding the first and last letters)

and each part is reversed, what will be the

18" letter from the left?

(A) N

(B) O

(&)

(D) R

Downl oa¥@d From : http://sscportal . Ph/

T} forehst &l U @R o of f wem
I oI A gROMY, B | siafifed 2|

P :

YR

[ IR &l ShgHY Bled | Ugd
3TIDT YA HRAT AMRY |

. If MY Awet BT € ar
AT 5w o Y fuer T8
SIT HehdT |

(A) ®ad g [ dd &

(B) dadl &R 11 3fdfifed &

(C) 1 ar gRom 137 11 fafifed ®
(D) S gRMY 18R 11 fafifRa €

et Red aofAren sigen & a1 iR @
124 31eR & SIS 3R I AT 3R 8T &7
(A) U
(B) R
) T
(D) G

Ife IS guiATe B (U8 SR <ifaH
JUIER BT BISHR) 4 AT H diel SIal ©
3R UA® WIT B Raxd o fear S 2
ar 9 | 1897 R AT BIITP

(A) N

(B) O

C€) P

(D) R
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Find the analogous pair.
fetter : liberate

(A) shackle : loose

(B) common : ghostly
(C) routine : novel

(D) secular: clerical

If in a coded language, COIN is coded as
8574 and UNTIL is coded as 94371, then
COCONUT will be:

(A) 9393596

(B) 8585493

(C) 8585321

(D) 9393593

In a running race, Rekha came ahead of
Mala by a 10-second margin; Inika came
ahead of Aarushi by 12 seconds; and
Vasantha came ahead of Gauri by 18
seconds. Mala came just a second after
Vasantha, and Inika came 2 seconds after
Gauri. Who among the given friends came
third in the race?

(A) Inika

(B) Rekha

(C) Mala

(D) Gauri

.in/

Q86

Q87

Q88

NEAUEISIRCIGE
fetter : liberate

(A) shackle : loose
(B) common : ghostly
(C) routine : novel

(D) secular : clerical

Iy fhell drs 99T § COIN &7 8574
3R UNTIL &7 94371 pifed fhar Sirdl

2 d COCONUT &I & difed fhar

Ol Q‘l:

(A) 9393596
(B) 8585493
(C) 8585321

(D) 9393593

U ale URRINET ¥, 3@l 10 dAhsd
HINST 3 HTell I U8l 3ATS; 3, 3oy
A 12 Ahed U 3MMg; 3R goer, AN
A 18 Hh<sd | Ugel 318 | ATCH, IHAT &
2 HHed dIg 3Ms | fau g SRal H 9
TR # =T DI 3TT?

(A) gfvrer

(B) X

(C) ATl

(D) NI
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conclusions and decide which ¥ g7 fospy fau w1v 8 3R faoly of &
conclusion(s) follow(s) from the 6T DI 91 frepy 3Tl Rl =
statement.

Y :
Statements: DY YR X z |
Some stones are gems. BY X A B |
Some gems are pearls. BY VT HiD g |

Some pearls are molluscs.

ey -
Conclusions: 1. BB YR Fdl € |
1. Some stones are pearls. 2. @Y XA Held B |
2. Some gems are molluscs. 3. ®Y HIeRD AR T |
3. Some molluscs are pearls. 4. J®B HTelh ¥ B |

4. Some molluscs are gems.

(A) ®ad =Py (1) BT UTe 81T &

(A) Only conclusion (1) follows (B) ®dal (TpY (2) &7 YT &Il &
(B) Only conclusion (2) follows (C) ®aa pY (3) &7 UTed BIel &
(C) Only conclusion (3) follows (D) ®ad fspY (4) BT Ul BT &

(D) Only conclusion (4) follows

Q90 Suppose A is the daughter of B, B is the Q90 ¥ <Y f6 A, B @1 91 8, B, C &I

daughter of C, C is the brother of D, and dE g, C,DPHTHE g AR D,EdT AT T |
D is the mother of E. If E is female, how Ife EAeT & a1 ALE ¥ o9 dafg 27
1s A related to E? (A) RIS
A) Nephew
(A) Nep (B) wciioil
(B) Niece
(C) wig
(C) Brother
(D) 984

(D) Sister
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Downl oa®éd From™

answer the question based on it :

1. ‘A+B’means ‘A is the mother of
B’.

2. ‘A -B’means ‘A is the sister of B’.

3. ‘A *B’means ‘A is the father of B’.

4. ‘A S B’ means ‘A is the brother of
B’.

Which of the following means that D is

the great-grandfather of A?

(A D¥*C+B+A

(B) D*CpBB-A

(C) D*C+B-A

(D) D*CpBpB+A

If the given image is rotated 90° counter-
clockwise and its mirror image is taken,

with the mirror placed at the base of the

image, the resultant structure will be:

[ n/le

Q92

ttp://sscportal.i2in/

1 SRy &1 U &R iR 3@

IR R Y P IR &

1. ‘A+B' 93z fh ‘A Bd A1 g

2. ‘A-B’HRgHABB IET% |

3. A*B’HA g f[H A BHTHS T

4. ‘A BB AAT T B A BI S
=

et % & fopr & arer @ f6 D,AD a9

qTaT B?

(A) D*C+B+A

(B) D*C B B-A

(C) D*C+B-A

(D) D*C B B+A

Ife &1 T8 Bfd BT 90° WR Tl BT Gg Bl
faem &1 Seer gART ST § SR @
TUur Bf, B & 9 W W T | o
STt & A1 aRum wReEr S 8@
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PSG4 In an institute ofelOO student[s), the pass PSG4 400 BTHI & Td AR H, dIF fawar A,

percentage in 3 subjects A, B and C is as B3R CH rd yfawra Fgar &
follows:
A B
.

Q93 How many students passed both B and Q93 foa= BEI 1 BRIR C qFi # ura fhg

C? 27

(A) 49 (A) 49
(B) 27 (B) 27
(C) 41 (C) 41
(D) 36 (D) 36

Q94 How many students did NOT pass at least Q94 fae BHEI 7 gAdH U YRIeAT U el

1 exam? PY 8?7

(A) 128 (A) 128
(B) 196 (B) 196
(C) 204 (C) 204
(D) 147 (D) 147

Q95 How many students passed A or B but Q95 foha o=l 7 AIT BU fham g _g C

NOT C? g |8l fhar 27
(A) 126 (A) 126
(B) 186 (B) 186
(C) 168 (C) 168
(D) 147 (D) 147
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the rest. 2|
pedoTE b AT
A B © O ® A B © O ®
(A) C (A) C
(B) B (B) B
©) A ©) A
(D) E (D) E

Q97 Choose the figure which is different from Q97 W IMHIT BT TIT B Sl AY F AT

the rest. =

doge)D bge)
(A) B) © D ® (A B ©) O ®

A4) C (A) C
(B) B (B) B
©) A ©) A
(D) E (D) E
Q98 Pick the odd one out: Q98 TTH & fawA &1 =TT |
(A) uaieo (A) uaieo
(B) cgkos (B) cgkos
(C) eimqu (C) eimqu
(D) hlptx (D) hlptx
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Q99

TVs manufactured by a company over the

years since its inception.

Number of Different Sizes of LCD TVs
Sold by a Company Over the Years

(Numbers in Thousands)

Size of LCD Tvs in Inches

Year -

40 50" 55" 60 65" 70" 757
2012 132 24 11 26 11 8 7
2013 143 35 34 38 13 11 6
2014 | 54 46 46 47 11 12 8

2015 45 53 51 39 21 18 11
2016 [ 56 42 49 42 24 14 14
2017 |47 38 54 55 31 21 16

The total sales of all the six years are the
minimum for which size LCD TV?

(A) 70"

(B) 50"

(C) 65"

(D) 75"

Q100 In which year was the percentage of 60"

Downl oa¥@d From : http://sscportal . P#h/

LCD TVs sold of the total number of LCD
TVs sold maximum?

(A) 2016

(B) 2015

(C) 2012

(D) 2014

Q99

@ I8 H HU AT T TS Sd
DI T BT T T |

o $B a9 ¥ HTN AR 90 TR
Torrs! S © fAf= |Iee @ G
(B9RT ¥ H=Am)

- 3g ¥ godrel 4l &1 agy
40" 50 55" 60" 657 70" 757

2012 {32 24 11 26 11 8 7
2013 143 35 34 38 13 11 6
2014 154 46 46 47 11 12 &
2015145 53 51 39 21 18 11

2016 | 56 42 49 42 24 14 14
2017 {47 38 54 55 31 21 16

il B8 aul B Ho [ gAad fba
AR DI YS! S &t 2?

(A) 70"

(B) 50"

(C) 65"

(D) 75"

Q100 & ¥ o Y FHol YS! ST B

T # ¥ 99 Y 60" B Yerirs! Sl
BT gfafera affdedd or?

(A) 2016

(B) 2015

(C) 2012

(D) 2014
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Which district of Uttar Pradesh does NOT

share a boundary with Madhya Pradesh?
(A) Allahabad

(B) Mirzapur

(C) Etawah

(D) Aligarh

Q102 How many districts from Uttar Pradesh

Q103

have been identified as ‘aspirational’ in the
ranking mechanism launched by the NITI
Aayog?

(A) 8

B) 5

©) 12

(D) 10

What was the theme of the 22" National
Youth Festival held at the Gautam Buddha
University, Noida in January 2018?

(A) ‘Sankalp Se Siddhi’

(B) ‘Rashtra Hit Ke LiyeYuva’

(C) “Yuva Ka Vikas, Desh Ka Vikas’
(D) “Yuva Shakti, Rashtra Shakti’

Q104 The Dastak campaign, launched by the

Downl oa®@d From : http://sscport al

Government of Uttar Pradesh, is related

to:

(A) the eradication of Japanese
encephalitis

(B) the eradication of polio

(C) making every village ‘open
defecation free’

(D) knocking every home in the state to

verify if it has a toilet

. Bh/

Q101

KNOWLEDGE/(‘IIHI"Q-I NIBGIR]

SR I & 7 # 3 9 | Ryt &
AT FEUST © AT AT el Bl 87
(A) TR

(B) foiigR

(C) =era

(D) 3fefliTe

Q102 N 3RT AR Y Hy 7Y fHT T3

Q103

Q104

H IR U B fohaw Riedl o1 Agaraed’
& w9 H ggE T 8?

(A) 8

B) 5

(€) 12

(D) 10

SR 2018 H WIAH g5 fdwdfdgad,
ATYST ¥ AR 22 U JaT FARIE
&1 favg war or?

(A) Fhea A Rigr

(B) g fod @ forg gar

(C) ‘gar &1 fderd, <1 &l e
(D) g wife, <z wfaer

SR TR WEHR ART Iw fHar

<@ I, = | 9 feas ddafda

27

(A) ST TTRAGARCH & S

(B) wiferar @1 ST

(C) 9% d Bl Gol—H—3d I o
T

(D) IE gHed o & fog & =
I R H Ored ®, U9 & & R

o
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Q105 Which option matches the cities in Uttar Q105 BT AT faded ST I & e H S

Pradesh with the rivers on whose banks feratl & et et @ & 5 PR
they are located? ER Rerd €7
S.No.| River |S.No City EO L U o bl

A Ganga 1 Jaunpur A SR 1 st el
B Rapti 2 Bithoor B _‘rﬁ 2 fasz
[ Gomti 3 Pratapgarh C T 3 HdT9 e
D Sai 4 Gorakhpur D LIS 4 TREYR

(A) A—-4,B-3;C-2;D-1 (A) A—-4;,B-3;C-2;D-1

(B) A-2;B-4;C-1;D-3 (B) A-2;B—4;,C-1;D-3

(C) A—3;B-4;C—1;D-2 (C) A—3;B—4;C—1;D-2

(D) A-2;B-1;C-4;D-3 (D) A-2;B-1;C-4,D-3

Q106 The longest elevated road in Uttar Q106 g 2018 & R AR, IR U

Pradesh, as of July 2018, stretches from: ¥ Ged ddl SIS dloll IS bal o
(A) Jewar to Greater Noida %l dd el 83 © ¢
(B) UP Gate to Rajnagar Extension in (A) SR ¥ Yex AvS]
Ghaziabad (B) Ul I ¥ MSIERE H SR
(C) Saifai to Etah IGESIN
(D) Noida Extension to Botanical Garden (C) 9%s ¥ UeT
Station in Noida (D) VST UqACYH ¥ ATt H diefdd
HISE IR
Q107 The _ has the sole right to mint Q107 YRd # Rgadi &I ToAls &1 THHA
coins in India. PR 3 U T |
(A) State Bank of India (A) R e 9
(B) Reserve Bank of India (B) wRaa Rord §&
(C) Government of India (C) ¥RJ AP
(D) Security Printing and Minting (D) ¥R I FGReT 9&v7 AR FAfST A
Corporation of India Limited ferfics
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third most populous state of India?
(A) Mabharashtra

(B) Madhya Pradesh

(C) West Bengal

(D) Bihar

Q109 Which statement about the Banking

Ombudsman in India is correct?

(A) The Banking Ombudsman is a senior
official appointed by the Reserve
Bank of India to redress customer
complaints.

(B) Only Public-Sector Banks are
covered under the Banking
Ombudsman Scheme.

(C) Itis binding on the complainant to
accept the award in full.

(D) The Banking Ombudsman charges a
nominal fee for filing and resolving

customers’ complaints.

QI10 Who headed the India-Oman Joint

Business Council’s 8th session on 16th —
17th July 2018 in Muscat, Oman?

(A) Suresh Prabhu

(B) Dr Virendra Kumar

(C) Maneka Sanjay Gandhi

(D) Rajnath Singh

Downl oa®@d From : http://sscportal . Ba/

Downl ogged JFLoms bR 085 SR ke T N Q108 Srmromr 2011 & s, wiva 1 e

FI_GRET CIBEy eI aTeAT ST DIl %?
(A) HERTS

(B) A& U<

(C) uf¥=aH §ra

(D) faBrR

Q109 MRA # dfhT Adura & IR H DI A1

P e 8?

(A) ST dArpurer Rod 9@ i gfear
@RI g v aRw e 8
S UTEl B Rierrdl o1 FHE
AT 2 |

(B) DA ATGSIH &3 & db, dfhiT
ATHUTA AT & ST 3T 2 |

(C) Rremaemal W 3/Ers & [ aRE
HR FRAT TRIHN 3 |

(D) BT ArpUTe, UTEDl DY R
ol IR MR Bl IR B forg ANl
Yo ol 2 |

Q110 16 — 17 SIS 2018 B AFHT H AR

HRT — S AYHRT ATIR URYE & 8d
A BT 7Igcd fBa fBar or?

(A) ¥ Y
(B) Sf dNg AR
(C) A9dT Forg el

(D) rorrer Rig
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QI11 What is the name of the scheme which
aims to provide LED bulbs to domestic
consumers with a target to replace 770
million incandescent bulbs with LED
bulbs by March 2019?

(A) ‘Ujala Scheme’

(B) ‘Roshan Scheme’

(C) ‘Bulb Scheme’

(D) ‘Har Ghar Bijli Scheme’

Q112 Who won the women’s singles

Wimbledon (Tennis) title 20187

(A) Angelique Kerber

(B) Serena Williams

(C) Simona Halep

(D) Maria Sharapova

Q113 Who won the Thailand Open World Tour
Super 500 Badminton Tournament
(Women’s Singles) in Bangkok held in
July 2018?

(A) Nozomi Okuhara

(B) PV Sindhu

(C) Saina Nehwal

(D) Zhang Beiwen

Downl oa¥@d From : http://sscportal . Ph/

/Qlll I AT BT 1 A 8 R Sgaed
tRe] SUHITIRT B YaSel god S
BT © oI A/, 2019 G 770 fAfer=
eI gedl (incandescent bulbs) T TelgS!
Il & T IEA &

(A) STl ST
(B) e AreHEr
(C) g8 Irom T
(D) & =R f&STell aroHr
Q112 A v fdgere (<f=1) Raama 2018
fora Sfrar en?

(A) UoifeT® e (Angelique Kerber)

(B) ¥R fafera=a (Serena Williams)

(C) RHMT el (Simona Halep)

(D) AIRAT IRTAET (Maria Sharapova)

Q113 TS 2018 H dhTd H NI A5l S

39 gee TR GUR 500 ISfied gAMHS

(Afeem Udhan) fae ST orr?

(A) AT ATRER]
(B) O 41 Rig
(C) T et

(D) ST 9899 (Zhang Beiwen)
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Downl oabB&d

/] sscportal.
e third person to win

From : httte

became

the World Cup as player and manager after
France won FIFA 2018 in Russia.

(A) Zinedine Zidane

(B) Hugo Lloris

(C) Didier Deschamps

(D) Franz Beckenbauer

Which state is the largest producer of
mangoes in India?

(A) Bihar

(B) Gujarat

(C) Mabharashtra

(D) Uttar Pradesh

What does APEDA stand for?

(A) Association of Producers and
Exporters of Dairy and Allied
Products

(B) Agricultural Products Export
Development Authority

(C) Association of Processed Food
Exporters

(D) Agricultural and Processed Food
Products Export Development
Authority

From: http://sscportal

. Bh/

Q114vﬁmaﬁwﬁ2018qﬁwsﬁﬁzﬁaﬁ’,

el 3R yded & wu # fdwg oy

RIGRECICI RISNECHERECE|

T o7 |

(A) RSHfeT R (Zinedine Zidane)

(B) ??Ifﬁ @R (Hugo Lloris)

(C) fSfS®w <eram™a (Didier
Deschamps)

(D) Wi 9&+aTSR (Franz Beckenbauer)

TR ¥ A BT Fad FT IAGH I
DI AT 57

(A) faer

(B) TorRTd

(C) "B

(D) SR Ya¥l

Q116 TUISSIT (APEDA) &1 fa]d U &1 &7

(A) ST 3R FEArh Icrel & HEiar
3R ferafcep! @1 TaIRTeRA
(Association of Producers and
Exporters of Dairy and Allied
Products)

(B) ¥ Icure fafa fawr wrfereor
(Agricultural Products Export
Development Authority)

(C) T Wiy it & TaRgeH
(Association of Processed Food
Exporters)

(D) FfY R FAIET Wgg I At
e WTfeIeRT (Agricultural and
Processed Food Products Export

Development Authority)

Cour t 88¥y-BE UPSSC


http://sscportal.in/
http://sscportal.in/

Downl oaded

Q17

Q118

Q119

Downl oaktéd From : http://sscport al

F om_: http://sscport al

1ch of the following was set up with /Q117
the purpose of promoting co-operative
marketing of agricultural produce to

benefit the farmers?

(A) NAFED

(B) FCI

(C) NABARD

(D) NAVDANYA

______ is a greenhouse method of Q1138
agriculture where commercially viable

crops are cultivated inside multi-storeyed

buildings in cities using advanced
greenhouse technology such as
hydroponics and aeroponics.

(A) Vertical farming

(B) Hydroculture

(C) Organic farming

(D) Roboculture

After attaining enlightenment, Gautama Q119

came to be known as the:
(A) Jina

(B) Buddha

(C) Jnana

(D) Bodhi

. Bh/

fram &I ™ Uga Bq SN SUS &
HEGR] fIUUH B 91T T & Iqaed
I = ° 9 e @ venfug fear
77

(A) %€ (NAFED)

(B) THIME (FCI)

(C) -ars (NABARD)

(D) T (NAVDANYA)

PN & W8S BT b
TRIBT & oTel S~d Hersd Uigarfia
Sufe ssgaied SR TR
(hydroponics and aeroponics) &I SUIRT
IRD, ST H IgANTT ARG B 3G
RIS wU A FIER HEe! DI ]
@ A B
(A) igad T (Vertical farming)
(B) ESgiderax (Hydroculture)
(C) Sfa® Well (Organic farming)

(D) &l de@R (Roboculture)

FH UT dRA @ 91, 9 b fd wy
H ST ST o

(A) o=

(B) 9=

(C) =

(D) difer
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Q120 Which Ashokan Rock Edict mentions Q120 {HIS IRITH DT DITHAT RIATeRT Dl

Ashoka’s triumph in Kalinga? W S faSTd BT ool Bl 87
(A) First (A) 92H
(B) Fourth (B) agd
(C) Tenth (C) Tad
(D) Thirteenth (D) R4

Q121 Who discovered the excavated site of QI21 W W & Teh fox, ferel Bl Yar

Lothal, a part of the Harappan B IS e & ofi?
Civilisation? (A) <1 M AT
(A) Daya Ram Sahani (B) IS goll
(B) Rakhal Das Bannerji (C) THAR 19

(C) SR Rao (D) JIRYH foee

(D) RS Bist

Q122 How long was the Battle of Kurukshetra, Q122 HEMR H qfvfe HEETA D roTg, fdat

mentioned in the Mahabharata, fought fes1 o oSy g oA
for? (A) 16 &

(A) 16 days (B) 18 &=

(B) 18 days (C) 20 &=

(C) 20 days (D) 24 &=

(D) 24 days

Q123 Which famous Ayurveda scholar lived Q1239 Y @ WARIA B AR P

during the regime of Kanishka I? NI &Tﬂé_c{ fagarT g er?
(A) Parashara (A) WRRR
(B) Sushruta (B) 9a
(C) Charaka (€) =P
(D) g=a=aR

(D) Dhanvantari
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Q24 is the author of ‘Tarikh-i- Q124 TRG—V—fURSIRIEl S okdd T
Firozshahi’. (A) aeed= o+t
(A) Ziauddin Barni (B) & Ao
(B) Hasan Nizami (C) s
(C) Isaami (D) &1 dear

(D) Ibn Battuta

Q125 Who among the following has NOT called Q125 7 # ¥ =9 1857 @ ‘RuTd! fagE”

the Revolt of 1857 a ‘Sepoy Mutiny’? 31 fagie 8l ol 2°?
(A) John Lawrence (A) ST &RA

(B) Karl Marx (B) PTel HIaA

(C) RC Majumdar (C) AIRAT HSHSR
(D) Syed Ahmad Khan (D) HI< 3gHc W

Q126 The demand for Pakistan was made in Q126 ﬂlr%w AT & ARR 93 H UIfdettT &l

~_____at the Lahore Session of the AT . H @ g
Muslim League. (A) 1932
(A) 1932 (B) 1936
(B) 1936 (C) 1940
(©) 1940 (D) 1942
(D) 1942

Q127 Who founded the journal ‘Bande Q127 WRA H §= ARH UG &I YA

Mataram’ in India? fgie @1 ofi?

(A) Ganesh Shankar Vidyarthi (A) OIS TR fagareff
(B) Ramanand Chatterji (B) IMME Feoll

(C) Aurobindo Ghosh (C) sRfa= =y

(D) Bipin Chandra Pal (D) foiF =g uret
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Downl oa((le (81 Tthgrpoper}%gntla/Tg;?%C(l)on%r(;[fat‘llle Q128 1857 & fagre’ © uRig =Rl § 9 th

famous leaders of the ‘Revolt of 1857, AT S (TIfTAr S) &I 3 -7 1859
was hanged by the British in 1859 at #  HmRY

- (A) =

(A) Jhansi (B) Rragdy

(B) Shivpuri (C) ®HYR

(C) Kanpur (D) 9FR

(D) Sagar

Q129 The size of the moon is approximately Q129 <A BT PR FeT P PR BT T

of the size of the earth. 7§ |

1 |

(A) 3rd (A) 3
1 I .

(B) th (B)
1 1 .

(©) gth ©)
1 1 .

(D) th (D) o

Q130 Which according to NASA is the closest Q130 T (NASA) & 3 RNIN ﬁ‘ﬁ @ dTe, tc[&ﬁ
@ Adedq RarT e 2?

(A) 3TSHT HSRT (Alpha Centauri)

(B) §9I€ ¥R (Barnard’s Star)

(C) Wifa=T® T R (Proxima Centauri)
(D) HIRTH (Sirius)

star to the earth after the sun?
(A) Alpha Centauri

(B) Barnard’s Star

(C) Proxima Centauri

(D) Sirius

: ' . 5
Q131 The Rohtang Pass is located in which state QI31 NI <X IR & fop  fRerer &

of India? (A) fearaet uewr
(A) Himachal Pradesh (B) 17y Gﬁ'\’ PR
(B) Jammu and Kashmir (C) ScRTEs

(D) RafdeH

(C) Uttarakhand
(D) Sikkim
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Islands from the Nicobar Islands? qdIdl | 37T Al 57
(A) 6° channel (A) 6° T
(B) 8°channel (B) 8° o
(C) 9°channel (C) 9° o
(D) 10° channel (D) 10° a7

Q133 ‘Pataca’ is the currency of which country? Q133 ‘U@ (Pataca) fhd <91 @1 REU 2°?

(A) Panama (A) g-rHT
(B) Laos (B) o<
(C) Macau (C) HPTS
(D) Mexico (D) #feRTpT
Q134 India contains about ___ of the total Q134 9RT H fAT BT Gl AT BT T
population of the world. .
(A) 12% (A) 12%
(B) 14% (B) 14%
(C) 15% (©) 15%
(D) 17% (D) 17%

Q135 Which is the highest mountain peak that QI35 98 I Wdiey udd R 2 St g

lies entirely in India? TWE ¥ WRT H Rera 87
(A) Kanchenjunga (A) FHaToren

(B) Nanda Devi (B) =&t <4l

(C) K2 (Godwin Austen) (C) K2 (vifsfa sifee)
(D) Kamet (D) BHE
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Q136 Neelam Sanjiva Redd

y was the
President of India.

(A) 5th

(B) 6th

(C) 7th

(D) 8th

Q137 ‘Reducing the amount of sentence

WITHOUT changing its character’
(Article 72), by the President of India is
called .

(A) respite

(B) reprieve

(C) remission

(D) commutation

Q138 Under which article of the Indian

Constitution is the election of the Vice-
President held?
(A) Article 54
(B) Article 63
(C) Article 66
(D) Article 74

Q139 PartII of the Indian Constitution is related

to what?
(A) Citizenship
(B) Fundamental Rights

(C) Directive Principles of State Policy

(D) The Union

Downl oa®@d From : http://sscportal . ¥h/
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Q136 e Holld Y8S! IRd & REsIN]

o |

(A) 54
(B) 63
(C) 74
(D) 84

Q137 RA & QUi ORI IR ®I dqal

99T, ST BT ATAT BT HH BRAT (IS
72) B PHEl Il B

(A) Hrgerd

(B) TUSfARM™

(C) emre

(D) fafr

Q138 YR Wfaw™ & 6y orfwvs & d&d

SWRIUfT & G719 BIaT 22
(A) gD 54
(B) IV 63
(C) AW 66
(D) 3Fg=s< 74

Q139 MR Sfdem= &1 9T 11 foas defea

2?

(A) ANTRGT

(B) Aifeid S1fddR

(C) I8 & N e Rigia

(D) w9
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Q140 Provisions are made for ‘Administration

and Control of Scheduled Areas and ST STl & g SR =
Scheduled Tribes’ under which schedule? @ forg wraen g o &7

(A) 4th Schedule (A) 4dT 3

(B) 5th Schedule (B) 5dT 3y

(C) 8th Schedule (C) 8t SFTRge

(D) 9th Schedule (D) 94 SR

Q141 Panchayati Raj was first introduced in the Q141 T ST T Tgell 9% 2 AR 1959

districtof o 2nd October 1959. e forel o e
(A) Beed il
(B) Shadnagar (A) oS
(C) Nagaur (B) RMETR
(D) Nanded (€) MR
(D) Hl<s

Q142 Which among the following is NOT a web Q142 /91 % 9§ P AT 99 FTSoR el 8°?

browser? (A) Google

(A) Google (B) Firefox Mozilla
(B) Firefox Mozilla (C) Microsoft Edge
(C) Microsoft Edge (D) Netscape Navigator

(D) Netscape Navigator

Q143 Which among the following is known as Q143 71 9 | BT AT IRARIT HART AT 37ReR

temporary memory or volatile memory? TR © ®Y H SET ST 87
(A) RAM (A) X (RAM)

(B) ROM (B) IM (ROM)

(C) Blu-ray (C) =X (Blu-ray)

(D) Hard disk (D) B f$%& (Hard disk)
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Q145

Q146

Downl oabB&d

From . htt
giga yte 18

Pivaf 35489 L
megabytes in binary?

(A) 1024

(B) 1002

(C) 3004

(D) 2015

In Microsoft Word, the

contains the most-used features, such as
tools for changing fonts and font
attributes, customising paragraphs, using
styles, and finding and replacing text.
(A) HOME

(B) DESIGN

(C) REVIEW

(D) INSERT

What was the first computer with NO
mechanical parts created by JW Mauchly
and J Presper Eckert in 1943 called?

(A) ENIAC

(B) Mark I

(C) Mark I

(D) EDVAC

From: http://sscportal

. WA/

Q145

Q146

Ay- ' n/Q144 1 frmreTs e fdha=t WTTETS T ISR & aRTER

2?

(A) 1024
(B) 1002
(C) 3004
(D) 2015

Microsoft Word ¥, <g H
I TS STANT B ST aTell Sifdb
DI R[Id B, AR BT STANT B
3R UTS BT e 3IR I & foTq Iuahor
ERENERINEIIY

(A) HOME

(B) DESIGN

(C) REVIEW

(D) INSERT

1943 ¥ I Tty Heell R of YRR
gdhc (JW Mauchly and J Presper Eckert)
AR fAT fasdt Y I1fes vl & g

Y Y8l HRER DI T HEl 73T AT?
(A) ENIAC
(B) Mark I
(C) Mark 1I

(D) EDVAC
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Q147 Which city in Uttar Pradesh is known as Q147 SR Ua¥ H GBI | A& B THIGII

the ‘Leather City’? B ISR © HY H ST ST 27
(A) Agra (A) SR
(B) Kanpur (B) &R
(C) Etawah (C) geran
(D) Sitapur (D) AR

Q148 Which dance is performed by the Ahir Q148 faarefl & <R W@ P AR gera

community of Bundelkhand during QART BIF A1 g fobar Sirefm &7
Diwali? (A) WU (Chhapeli)

(A) Chhapeli (B) WIS SfeT (Pai Danda)

(B) PaiDanda (C) wIIf$aT (Bhagoria)

(C) Bhagoria (D) Acare! (Natwari)

(D) Natwari

Q149 The famous embroidery done on fabric Q149 HHE €N BT IHANRT I HUS TR P!

using white thread is called: TS URTE Hels I T Hal Sl &
(A) Chikankari NREEEEI
(B) Gota (B) TTreT
(C) Zardozi (C) SRerSll
(D) Zari (D) ™I
Q150 Select the INCORRECT district — Q150 fT 7Y fadbedi # % et ffel — qerery
headquarters pair from the given options: EISIESISIEEZICREIEE
(A) Amethi— Gauriganj (A) W — TR
(B) Sonbhadra — Robertgunj (B) Mg — facTio]
(C) Kushinagar — Padrauna (C) R — g1
(D) Kaushambi — Vaishali (D) DI — el
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B . I
Read the following Instructions carefully :

H /
L UL

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed

. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.
Each candidate must show on demand his / her Admit
Card to the Invigilator
. No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.
. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.
Use of Pencil/Electronic/Manual Calculator is
prohibited.
The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.
10.After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy

of answer sheet.

1. TP U & forv fou ¥ IR fawedi | 9
Tl SR & foTv 3. UH. 3R, SR U5 WX
®acl U el Bl 81 YUl T8 Plel glel Uise
U9 9 WX | TP dR SR 2ifhd fou o9 &
q1€ I Iqell el Sl Ahal 2 |

. Qe AREd e &1 ITR U DI ArST 1
ST Ud S99 WR BIs 3 e 7 o v |
oRreell 37U TG SR UF # MEiRd
R & ffaRad == 7 ford |

TRIET gRADT Ud IR IF BT T
N, Fifd feed ff aRRUfY & (@aa e
GRAT®T H FHHI DT BIS DY) TN WRIeT JRADT

Ud IR UF U] el BT SITEAT |

. e gRaeT H & T wRie gRa®r RIS
Bl Riemdl HEl T I BIoRI—ua H ford |

. I8 9M R UAS qRIeTd], Hef Rield Dl
37T Yo U =g |

. NeTd AT BeT D D [T AT B
forr @15 wRemeft iU <o 7 BIS |

HRINT HeT RI&Th Bl T IR I QU
o wRiemef oruer e g s | e
forxft aRlemef 7 BIRN—3 IR ExdeR 78l
U O I8 HFT S0 &Y A IR T TRl
JIerT € 3R Ig SFfed | BT JFe
HET ST |

. U [/ Seldeiiih / gxadiield URdbeld Bl
SHINT afdtd B |

. TXIETT Bfel MR & forg uiemefl amanT
o I e v et g fAafaa g
& fradl vd fafadl & ergar &R |

10.TRIETT & SURIT 3nelt SR TP el JRIeTd
BT el ¢ | fNeid gRT 3ngelt &l SR
TG BT gt Uit ST BIS SIQIT qe
T IWIT B BeT PI BIST DI AT af
ST | SR U= a1 3ngelt ufd speft or
3O AT o T @Y START B |

11. Candidates are not allowed to take Test Booklet with | 11.qR)elT & SURId goemedl o ger g‘%—ﬁb‘[
them They have to submit the Test Booklet to the PeT ITINIETH BT el BT | TRIeT
invigilator after the exam. BT gRETTRfT U AT HEl of S Hhdl & |
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